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Questions from myminimaths.co.uk:
25a)   -     =                                                               25b)   +     =
25c)   -     =                                                             25d)   +     =
25e)   -     =                                                25f)   +     =
25g)   -     =                                                        25h)   +     =
25i)   -     =                                                                25j)   +   =
25k)   -     =                                                               25l)   +     =
25m)   -     =                                                          25n)   +     =
25o)   -     =                                                             25p)   +     =
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Video to help: 

https://myminimaths.co.uk/arithmetic-16-practice-question-25/ 
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Answers: 
https://myminimaths.co.uk/arithmetic-16-answers-question-25/ 
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	LO: To multiply by an integer.

	Tuesday 9th June 2020

	Star words:   denominator               numerator                       multiply  
Simplify              factors            vinculum          proper        improper        



	Fluency
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	Reasoning
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	Problem Solving
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	Challenge
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	LO: To multiply a mixed number by a whole number.

	Wednesday 10th June 2020

	Star words:   denominator               numerator                       multiply  
Simplify              factors            vinculum          proper        improper        



	Fluency
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	Reasoning
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	Problem Solving
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	Challenge

	Use the pattern blocks. If [image: ] is equal to 1 whole, work out what fraction the other shapes represent. 
Use this to calculate the multiplications. 
Give your answers in the simpliest form. 
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	LO: To multiply fractions by fractions.

	Thursday 11th June 2020

	Star words:   denominator               numerator                       multiply  
Simplify              factors            vinculum          proper        improper        



	Fluency
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	Reasoning
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	Problem Solving
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	Challenge
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Friday 12th June 2020
Arithmetic
	1) 298 + 10 = 
	19)   +    = 

	2) 46 x 4 =
	20) ___ ÷ 7 = 7

	3) 5.5 + 5.5 =
	21) 3.9 ÷ 10 =

	4) 78 ÷ 2 =
	22) 72 =

	5) 369 + 212 =
	23) 	2,900 + 2500 =

	6) 64 ÷ 8 =
	24) 490 ÷ 70 =

	7) 309 + 7 =
	25) ____ x 20 = 2400

	8) 41.09 + 11.2 =
	26) 70 % 3500 =


	9) 8 x 3 x 5 =
	27) 5.12 x 3 =

	10) 10,361 - 100 =
	28)   +    =

	11) 79 x 4 =
	29) ___ ÷ 8 = 50 

	12) 6.1 + 7.9 =
	30) 70.6 ÷ 10 = 

	13) 96 ÷ 2 =
	31) 82 = 

	14) 486 - 217 =
	32) 1800 + 3300 = 

	15) 42 ÷ 6 =
	33) 4400 ÷ 44 = 

	16) 219 + 6 =
	34) ___ x 70 = 4200 = 

	17) 61.2 + 11.2 =
	35) 60% of 5,500 = 


	18) 8 x 4 x 5 =
	36) 4.61 x 4 = 
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. Work out% X 4 by counting in sixths.
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Use this method to work out:
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. Mo uses a single bar model to
4

.1 =2
wz:arkout.5 X 4= S
Use this method to work out:

42 x3 5)6x:





image5.png
I Eva uses a number line and repeated addition to work out

Ix7=I=12
Use this method to work out:
5%2 8 x3 95 x7
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Amir is multiplying fractions by a whole
number.

© I xB=
© -

Can you explain his mistake?
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Whitney has calculated 4 x %

From the picture | can

3 12
seethat4 X = = ==

Do you agree?

Explain why.
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| am thinking of a unit fraction.

When | multiply it by 4 it will be
equivalent to >

When | multiply it by 2 it will be
equivalent to %

1) What is my fraction?

2)What do | need to multiply my fracmn
by so that my answer is equivalent o7 29

3)Can you create your own version of this
problem?
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Jack runs 2; miles three times per week.

3 .
Dexter runs 3% miles twice a week.

Who runs the furthest during the week?

Explain your answer.
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Use the digit cards only once to
complete these multiplications.

2|46
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W Use repeated addition to work out 2§ X 4

Use this method to solve:
122 x3 2)13x2 3)33x4
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. Partition your fraction to help you solve 2 % X 3

B ) 2 % 3=6
. < 3=}
I 6 +2} =8

Use this method to answer:
4923 x3 5)32x2 627x5

1
4

B
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. Convert to an improper fraction to calculate:
N32x4 823 x2 94 x 33
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& Convert the mixed number to an improper fraction to multiply.
23 xz3=Byz=-3_,1
5 5 5 5
Use this method to calculate:
10)3x22 1112 x3 12)2x12
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Always, sometimes, never?

When you multiply a unit fraction by the
same number as it's denominator the
answer will be one whole.
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Eva and Amir both work on a homework
project.
Ispent 4 1 hours a week

for 4 weeks doing my
project.

Eva

1 spent2 2 hours a week

for 5 weeks doing my
project.

Amir

Who spent the most time on their
project?

Explain your reasoning.
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Work out the missing numbers.

Explain how you worked it out.
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There are 9 lamp posts on a road. There

is4 ;of a metre between each lamp post.

What s the distance between the first
and last lamp post?
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2 Dexter is calculating% X % by folding paper. He folds a piece of

paper in half. He then folds the half into thirds.He shades the
fraction of paper he has created. When he opens it up he finds he

has shaded % of the whole piece of paper.

@

% X % means % of a half. Folding half the paper

1

into three equal parts showed me that§ X % ==

Represent and calculate the multiplications by folding paper.
1 1 1 1 1 1

1)=x== 2)-x== 3)-x-=

4 2 4 3 4 4
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¥ Alexis drawing diagrams to represent multiplying fractions.

Wi

1

Shade the diagrams to calculate:
alyxlio 5)_ 1o 5)1 1= 7)2
3 2 2 3

Write your answers in their snmplest form.

1 2.3
X=-= 8)=x=-=
4 374
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Alex says,

=

Do you agree?
Explain why.

1 x Listhe same as =
4 2 2
of a quarter.
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The shaded square in the grid below is
the answer to a multiplying fractions
question.

What was the question?
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Find the area of the shaded part of the

shape.

Not drawn
m accurately
-m
2m m
3
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How many ways can you complete the
missing digits?

‘ 3 6
>< = —
12

* e
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Mrs Smith has the target number of 7.
She has found 5 ways of making this by
multiplying a whole number by a mixed
number. Can you find them all?

(The denominator in your mixed number
must be smaller than the larger number.)
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